Carsten Berkau: Bilanzen Solution to Chapter 7

Task IM-7.48: Exercise on Revaluations
(Impairment Loss and Disposal)

ROTTUM (Pty) Ltd. is a tool rental shop (Werkzeugvermieter). On 3.04.20X2, ROTTUM (Pty) Ltd. reval-
ues a mini digger (Minibagger) at 42,000.00 EUR. ROTTUM (Pty) Ltd. recorded a revaluation reserve of
3,780.00 EUR (after deducting the deferred liabilities) and a deferred tax liability to the extent of 1,620.00
EUR.

The digger has a useful life of 5 years and no salvage value. The digger got a remaining useful life after
revaluation of 3.5 years (= 42 months).

The digger is sold on 9.06.20X3 at 31,000.00 EUR net selling price.

Required: Calculate the profit/loss on disposal and show the Retained Earnings account as at
31.12.20X3. Assume the opening value of the Retained Earnings account on 1.01.20X2 is 0.00 EUR
and besides the revaluation, deferred tax income and profit/loss on disposal entries, ROTTUM
(Pty) Ltd. earns a pretax profit of 100,000.00 EUR in 20X2 and 90,000.00 EUR in 20X3.

Solution:

(OV) Recording the mini digging machine

(1a) Depreciation in 20X2 when the digger is deployed for 9 month. Depreciation equals to 9 X 42,000 /
42 = 9,000.00 EUR. Depreciation along the tax law is lower. It equals to: 9 X (42,000 — (3,780 + 1,620)) /
42 =7,842.86 EUR. This results in a deferred tax income of: 30% X (9,000 — 7,842.86) = 347.14 EUR.

DR Depreciation ..................... 9,000.00 EUR
CR ACC DEPE ..t ittt it tiee e tiiaeeen 9,000.00 EUR

(1b, 1c) The portion of depreciation is a percentage of 9,000/42,000 = 21.43%. ROTTUM (Pty) Ltd. dis-
solves 21.43 % of the deferred tax liabilities and the revaluation reserves which gives a reduction of 21.43%
X 1,620 = 347.17 EUR on deferred tax liabilities and 21.43% X 5,400 = 1,157.22 EUR on revaluation

reserves (the amount is based on the revaluation reserves before deferred taxes are deducted):

DR Deferred Tax Liabilities ......... 347.17 EUR
CR Revaluation Reserves ............. 347.17 EUR
DR Revaluation Reserves ............. 1,157.22 EUR
CR Retained Earnings ................ 1,157.22 EUR

(2a) Depreciation in the next year equals to 5 X 42,000 / 42 = 5,000.00 EUR. Depreciation along the tax
law is lower. It equals to: 5 X (42,000 — (3,780 + 1,620))/42 = 4,357.14 EUR. The profit on disposal along
the tax law is: 31,000 — (42,000 — 5400 - 7,842.86 - 4,357.14) = 6,600.00 EUR The profit on disposal along
IFRS equals to 31,000 — 42,000 — 14,000 = 3,000.00 EUR. This results in a deferred tax expense of: 30%
X ((5,000 — 4,357.14) — (6,600 -3,000)) = 887.14 EUR.
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DR Depreciation ..................... 5,000.00 EUR
CR ACC DEPT ..ttt i ittt 5,000.00 EUR

(2a) In the next year, the revaluation reserves and the deferred tax liabilities will be dissolved completely.

DR Deferred Tax Liabilities ......... 1,272.83 EUR
CR Revaluation Reserves ............. 1,272.83 EUR
DR Revaluation Reserves ............. 4,242.78 EUR
CR Retained Earnings ................ 4,242.78 EUR

Observe the accounts for the calculation:

D P, P, E@valuation C D Revaluation reserves C
ov 43,890.00 |Real 43,890.00 (1c) 1,157.22 (OV 3,780.00
c/d 2,969.95 ((1b) 347.17
4,127.17 4,127.17
(2¢) 4,242.78 |b/d 2,969.95
(2b) 1,272.83
4,242.78 4,242.78

D Deferred tax liabilities cC D Retained earnings C
(1b) 347.17 (OV 1,620.00 DTly, 347.14 |(1¢c) 1,157.22
c/d 1,272.83 c/d 70,810.08 |P&L2 70,000.00
1,620.00 1,620.00 71,157.22 71,157.22
(2b) 1,272.83 |b/d 1,272.83 b/d 70,810.08
P&L3 60,840.00
(2¢) 4,242.78
¢/d 136,780.00 [DTly, 887.14
136,780.00 136,780.00
b/d 136,780.00

© UVK Verlagsgesellschaft mbH, Konstanz und Miinchen 2016



Carsten Berkau: Bilanzen Solution to Chapter 7

D Depreciation - 20X2 C D Acc depr C
(1a) 9,000.00 [P&L 9,000.00 c/d 9,000.00 [(1a) 9,000.00
b/d 9,000.00
Real 14,000.00 [(2a) 5,000.00
14,000.00 14,000.00
D Depreciation - 20X3 C D Realisation C
(2a) 5,000.00 |[P&L 5,000.00 VAT 6,200.00 (C/B 37,200.00
PPE 42,000.00 |[Acc 14,000.00
POD 3,000.00
51,200.00 51,200.00
D Cash/Bank cC D VAT C
Real 37,200.00 Real 6,200.00
D P&L2 C D P&L3 C
Depr 7,842.86 |P 109,000.00 Depr 4,357.14 (POD 6,600.00
EBT 101,157.14 EBT 94,242.86 |P 92,000.00
109,000.00 109,000.00 98,600.00 98,600.00
ITL 30,347.14 |b/d 101,157.14 ITL 28,272.86 |b/d 94,242.86
R/E 70,810.00 R/E 65,970.00
101,157.14 101,157.14 94,242.86 94,242.86
D P&L2 cC D P&L3 C
Depr 9,000.00 |P 109,000.00 Depr 5,000.00 |POD 3,000.00
EBT 100,000.00 EBT 90,000.00 |P 92,000.00
109,000.00 109,000.00 95,000.00 95,000.00
ITL 30,347.14 (b/d 100,000.00 ITL 28,272.86 |b/d 90,000.00
R/E 70,000.00 [DFI 347.14 DTE 887.14
100,347.14 100,347.14 R/E 60,840.00
90,000.00 90,000.00
Exhibit 1: Accounts

The Profit and Loss accounts are not required. However, they allow to cross check of the results. The Re-
tained Earnings account along the tax law should give the same amounts than along IFRS. The figure of

70,810.00 EUR is in the Retained Farnings account visible. The addition to the Retained Farnings account
in the next year is 65,970.00 EUR. The amount can be checked by calculating the increase of the Retained
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Earnings account along IFRS: 136,780 — 70,810.08 = 65,969.92 EUR. There is a rounding difference of
0.08 EUR.
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